30. U1 Verbs, €iui

Lesson in a Nutshell

Mzt verbs are an ancient form of the Greek verb that behave slightly

differently than the others. For the most part, they are very easy to
recognize and the clues we have already learned will still apply.

There is one last form of the verb that we must mention. These are usually called the Lt
verbs because in their lexical form they end in [t in rather than .

In John 1 we will come across three 11 verbs: 818wit, dnut, and 1oL

For study purposes, | have added Tienm and SSiKvum to the chart below. The [Lt verb
is an ancient form. There are not very many of them in the New Testament but the few
that occur do so with great frequency.

Here are the principal parts of some 1 verbs.
What patterns do you see?

Present Future Aorist Perfect ;?:;3 Aorist
Active Active Active ; Passive
Passive
8‘2‘:\’/2“ Ole0) edwKo dedwiol dedopon £500MV
1?;25‘ oTNOW £0TN00. £0TNKOL £0T0.OMV
Tie‘nul ’ 9 ’ ’ £} ’
| place, put Onow eonko teberkol tebenon eTEOMV
88}1:&’) }/)vm delEw edetfo dedetyol £de1yOnv

For the most part, you would be able to parse the |11 verbs just by using the clues you

have already learned for the regular verbs. (q)nui is an unusual Lt verb that only occurs
in two tense stems, so don’t worry about it.)
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Here are the four strange twists that |11 verbs throw at you.

1. In the present tense, |11 verbs reduplicate the initial letter and separate the
reduplicated consonant with an iota.

This is easy to see with 518w{11. It is less obvious with the other examples. Here
is what happened.

The root of '{Grmu is oto.. When it is reduplicated, it becomes cioto. But the
repetition of the sigma was offensive to the Greek ear, so they turned it into a
rough breathing: 1oto.

The root of T1OnLt is Os. When this is reduplicated it becomes 610¢. You are
probably getting enough of a feel for Greek by now to know that this sound would
offend the Greek ear. So they de-aspirated the first 6 and made it a t: T10¢.

2. 1 verbs use slightly different endings in the present active indicative, as you can
see below.

Present

Active
Indicative

S1dwut
S18wc
S180o1V
S18ouev
31801E
3180001V

3. The stem vowel of the |11 verb changes a lot. It can shorten, lengthen, or drop out
completely.

4. Most of the 11 verbs use ko instead of oot to indicate aorist tense. These are called
“kappa aorists.”

However, in all the other tenses, the endings look like what we have come to expect. All

the clues apply. We simply have to be aware of the slight variations in the present active
indicative.
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Here is a sample of 518wyt with endings for your viewing pleasure. Notice how the
clues we have learned apply.

~

St Swow £dwKa dedwko  |S18d 0
S18mc dwoelg  |edwkog  |dedwkog  |S18am¢ Sag
S1dwotvy  |dwoet edwkev  |dedwkev  [S180 Sy
d1douev  |dwoopev  |edwkopev |dedwicopuey [S18wuev  |dmuev
d1801e dwoete  |edwxote  |dedwkote |S1dmTE d0Te
3180001V |dwoovoty |edwkav  |8edwrav  [d1dwoy  |ddoty

elui
elut is a very irregular i verb. It is also one of the most common words in Greek. The
best thing to do is simply memorize it. There is no aorist or perfect form of sip{.

et nunv eEoouon
Iam I was I will be
el e gon
you are you were you will be
EGTLV nv £0TOU
he/she/itis he/she/it was he/she/it will be
o] VEAY ﬁLLSV €O OLLSOOC
we are we were we will be
£0TE nte £0e00¢
you (all) are you (all) were you (all) will be
€1olv f]G(XV EOCOVTOl
they are they were they will be

Mt. Koivn 165



